Pa3jgoxeHue HA MHOKHUTEJIHN CIIOCOO0OM
rpyNnnupoOBKHU

32 +2x—-1=0
3x2 +3x—x-1 =0
(3x? +3x) —(x+1)=0

X(x+1)—-(x+1)=0
(x+1)3x-1)=0
x+1=0 3x+1=0
x=-1 3x=1

|
X=§




MeTOIl BbIAC/JICHHUA IIOJTHOTO KBa/JiparTra

3x2 +2x—-1=0

2 |
xl+-§x_§==0
g @& 1 1
(& F 2% 3% vy )= g =3 =0
1 4
(x+3)-53=0
1 2 )

x+1=0 3x+1=0
c=-1 3x=1

OtBeT: -1:

W | —
*




MeToa pa3jiokeHUsI HA MHOKUTEJIHN, UCII0JIb3YH

Teopemy besy

3 +2x-1=0
-1 — KOpeHb MHOTOWJICHA 3X> + 2X — 1.
Hcnone3ysa cxemy | 'opHepa, Haiijgem A(-1)
. 2 -1
-1 -1 0

(x+1)3x-1)=0

x+1=0
x=-1
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